(HHXFE1—-18)

AR R X 3 R b 807 B 7 e

5%

EHERMEERAEE (KFR)

A
~

EXTEHE
AEE RNt PER R FER [osnrnn| onmns | oaven | goom
®+®@) BrE® @x75%LTF
HRE BHALAT O B A 1,200,000 1,200,000f  466,000f 734,000
(7) B S~ 7 ERCE2E | 10 172,500 42,500 31,000f 141,500
Bl - BRI B0 B 1E1Y T 20,000 0 0 20,000
R AN R T ST AR 20,000 0 0 20,000
2 [E RSl 2 A i ) 4A-9H 10,000 0 0 10,000
(«) THETHRY WA 50,000 50,000 37,000 13,000
2&%??% FRAFRDHEN 1H13H 102,500 79,500 35,000 67,500
Ed)
TDOF MR E P S 3E SGIESS 380,000f 380,000 280,000 100,000
() WEOHDOHEE 9H15H 118,000 52,000 39,000 79,000
BALICEAT % MUEE N BN R Gikes 100,000 0 0 100,000
ke FEROSORESEREN L0 | 20,000 0 0f 20,000
TR SRS (dERGEE) T 2H 20,000 0 0 20,000
(T) BNV oVAL LB S A 385,250f  385,250f 150,000 235,250
BEICET S |V DX NBNA AR B 50,000 0 0 50,000
EE
() FEH WA 6-7H 133,600f  133,600f 100,000 33,600
?%{;‘;IZF;&?“% fELfk CHI 2B D<A IEE W@ 20,000 0 0 20,000
) AR AR ke T2 1 074,0008  614,0000  450,000f 624,000
STAb - R AR— Mg — 1 2 20,000 0 0 20,000
VICEY BIE
Ed)
@& & 3,895,850 2,936,850} 1,588,000; 2,307,850
LERTF~DOBFHAFICOETFEL UL, ZNETADLECLEE—DULDBEEZTERL T,
XEMEEFSFTECOVTE, ZNFNOBECLICHEEHEE, RIXFEEFERL TS,




HXE 1 —-45)

RBr i R Xk SR s E B e =

EEEMHME FEE
| BMORR L 158
ESHES FEEH FEEDRE
SERBOEE [HEFHHELOEBRBOREH
55 B, BEREREEH w B | FE B
e [ EEONPOZ T REBIE 22
ORRNORRS | ez ofdsBoRENER | #1 | P
% Tk & R
MHRUERE [SsfERA D OEES - HiiEw
%4 BT B OB DB il B | R
%#E-I-@% - %#*&%%\ ”Xﬁ%ﬁ EFﬂ E#Fﬁ
Z . NEAEEEEREEERTE ; e
ABEBOEER. RIHRESEIEE
Z DTS iﬁ@%fg = FH A
SBEEBHELEDOLS - BRI
3— é #%% ﬂEFEﬁ @ EFEﬁ E%FEﬁ
X1
& &
2B 5
X1 BEOWBINREE. GEHBRIAT x800M] MMERYET.
2 EELSNOEE
EERE 8 ®

HIIAE R~ 0D HUIBGTS B i ide 2 D
URHREEDIERL, Ho7s R &)

M B~ DI R B i i
K ONHITE B 0D Ji5] J

ST B Bt e = A VRS A v M O AR A A

XVay, Yo H—,

~ T —%)

%ﬁ%@%%@®$%@%@ﬁ@

KEEETRETDEFEL. BAFTEOYSRLGELNHNILTHRALLEEL,




(*HXE1—-557)

RIRFHH R RS F I E B
EEEMNE NXTFEE

1 URA

OeHTHEEE Q> bBEEE @F Dt
(@D+®)

¥ E & 512,400 500,000 12,400

— - OF % ( )

e S8k 55 MBS FHKE

EREN

REXEBEE

ERER A

s V== 5-1—(30,000[1 X 4¢2), =
HELE 162,400 150,000].15(32,4007). 2t i1 #510,000 1

BEE

SR N

SeEIKE

emiEiEs

SN

®HE

ERAMRUVEEH

REBAZ
B7-L=4"~7")./5~(200,000

BEREAE 350,000 350,0001m) 1o =45 (150,0001)

=8

AR

=) B 512,400 500,000




